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14 | 1,600z=3 ~ 2,0000]3F | 109 14 1,600z3} ~ 2,000°]38} | 109
15 | 2,000%3 ~ 2,500°]3F | 112 15 2,000%3} ~ 2500015} | 112
16 | 25003 ~ 3,0000]3F | 115 16 2500z} ~ 3,0000]3} | 115
17 | 3,000%3 ~ 4,0000]3} | 118 17 3,000z} ~ 4,0000]5} | 118
18 | 40003 ~ 500003t | 121 18 4,000%3} ~ 5,000°]3} | 121
19 | 5000%3 ~ 6,0000]3} | 124 19 5,000%3 ~ 6,000°]5} | 124
20 000%3} ~ 7000018} | 127 20 00023 ~  7,0000]8} | 127
21 | 7,000%3 ~ 8,000°]3F | 130 21 7,000Z3} ~ 8,0000]3}F | 130
22 | 80003 ~ 9,000°|3F | 133 22 8,000z} ~ 9,000°]3} | 133
23 000%3} ~ 10,000018} | 136 23 000=3} ~ 10,000018} | 136
24 1qoay%£4f~ 3000013} | 139 24 1qoax%54- 30,0005t | 140
25 00034} ~ 50,000013} | 142 25 00034} ~ 50,0003} | 145
26 50,0003} 145 26 50,0002} 150
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Sl 2d |3 | 4d | sd [ ed | 7d | sd | 9d | 109 | 11d | 12d | 139 | 149 | 154

[y

0.681 [ 0.577 1 0.489 | 0.414 | 0.351 | 0.298 | 0.252 | 0.214 | 0.181 | 0.153 | 0.130 | 0.110 | 0.093 | 0.079 | 0.067

o] 4
|
[ Y
a1 | U1
'L S | > oo
[en]
N
w
e

0.753|0.685 | 0.569 | 0.472 | 0.391 | 0.324 | 0.269 | 0.223 | 0.185 | 0.154 | 0.127 | 0.106 | 0.088 | 0.073 | 0.060 | 0.050

@ 1) AT AFe] Yods 8 Brtg

N yE | 14
2+ % £ = 1d [ 2d | 3d [ 43 | 5939 | 6d | 73 | 83 | 9d |10d | 119 | 12@
W | vk

s &

) g | 43 |0.708|0.562 | 0316 | 0.178 | 0.100 | - - - - - - - -
A5 2}
2 3| 9UE | 64 0703|0562 | 0.464 | 0316 | 0.215 | 0.147 | 0.100 | - - - - - -
253 | Mg | 121 | 0.768 | 0.650 | 0.563 | 0.422 | 0.316 | 0.236 | 0.178 | 0.133 | 0.100 | 0.090 | 0.080 | 0.070 | 0.060
3 = | FY& | 61d 0703|0562 | 0.464 | 0316 | 0.215 | 0.147 | 0.100 | - - - - - -
A5 | mgde | 121 | 0.768 | 0.650 | 0.563 | 0.422 | 0.316 | 0.236 | 0.178 | 0.133 | 0.100 | 0.090 | 0.080 | 0.070 | 0.060
°of F | _

3} T 5 | 69 | 0703|0562 | 0.464 | 0.316 | 0.215 | 0.147 | 0.100 | - - - - - -
s

N ok

1) HFHEE =&, =& A HEdr 3 3hs

d
| IS e [ 2a s | aa | sa | ed | 7| sa |9 | 0d |1 |24 | B | e | 19
o

gl

15 0.739 | 0.681 | 0.577 | 0.489 | 0.414 | 0.351 | 0.298 | 0.252 | 0.214 | 0.181 | 0.153 | 0.130 | 0.110 | 0.093 | 0.079 | 0.067

loko [of
> o

153 |0.753 | 0.685 | 0.569 | 0.472 | 0.391 | 0.324 | 0.269 | 0.223 | 0.185 | 0.154 | 0.127 | 0.106 | 0.088 | 0.073 | 0.060 | 0.050

of
o
—_
al
[

0.778 | 0.712 | 0.597 | 0.500 | 0.419 | 0.351 | 0.294 | 0.247 | 0.207 [ 0.173 | 0.145 | 0.122 | 0.102 | 0.085 | 0.072 | 0.060

ot
i
L

0.778 10.712 1 0.597 | 0.500 | 0.419 | 0.351 | 0.294 | 0.247 | 0.207 | 0.173 | 0.145 | 0.122 | 0.102 | 0.085 | 0.072 | 0.060

@ ()& AT AFe] WEASF % Whe

a = = [HE 14 14 24 3d 4 54 6l

(s} o - O‘ﬂ _/,: D] E’l— Ry Ry RiY Ry Rs R4
T el g e | 49 0.708 0.562 0316 0.178 0.100 - -
A2 ' ' ' ' '
s | 4
Az | 0 dE | 69 0.703 0.562 0.464 0316 0215 0.147 0.100
o d94 | 6d 0.703 0.562 0.464 0316 0215 0.147 0.100
A& 2
o # | 99|

1

A5a | Mg 6\ 0.703 0.562 0.464 0316 0215 0.147 0.100

_’l’l_
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=47,
20

" 0.768
XA XL

gmee

Z32|ExYAN,

0.650 | 0.563 | 0.422

0.316

0.236

0.178

0.133

0.100

EI2|EHZ
TREFEY
CHI T,

D EDARIAR}

7k

232 EMRT|
Z3R|EYMES]

olAZET|LIA,

ofx
>

10 |0.810

OfATEAT |,

0.708 | 0.631 | 0.501

0.398

0.318

0.251

0.200

0.159

0.126 | 0.100

EX )

SEtgI S|, 707 0.849

#37|, Mg

0.768 | 0.702 | 0.588

0.492

0412

0.346

0.289

0.242

0.203 | 0.170 | 0.143

0.119

0.100

=LA,
7187|, Elel=iRl
22, aierd|,

ofx
[

12 10.839

Ue e Tl

2

E

—

0.750 | 0.681 | 0.562

0.464

0.383

0316

0.261

0.215

0.178 1 0.147 | 0.121

0.100

b
=

f

V| 1|

A 0.864

ZE{ a0l

0.793 | 0.736 | 0.631

0.541

0.464

0.398

0.341

0.293

0.251 | 0.215 | 0.185

0.158

0.136

0.117

0.100
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JIBHE [ S AATE 6 | giH | 015 | 01 JIBRd | St e 8 | A 101125
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9 (B=AEE] 4 I 2 U

A<
O =24 A olE
# HoM e
3 7P RS 7 Fak4 B2 (AC-GD) 3 7P RS 7P T W2 (AC-GD)
&% 9@ | 60m/E | 90m/ & | 105m/ & | 120m/ & | 150m/ & &% 9@ | 60m/E | 90m/E [105m/ & | 120m/ % | 150m/ &
8 | 637F | 637F | 6377 | 156572 | 2557 W | 637F | 637F | 6371 | 1557]1F | 25%7]F
71#E0 10 10 10 15 18 71&04 11 11 11 15 18
Ag]wolEl| 26302| 32,584| 44,152 94160| 121,760| | |AgwolEl| 31416| 34,016| 37,408 80,688| 102,136
1% S4A 756 1,025 1,025 1,189 1,280 1% 44 1,071 1,190 1,190 1,512 1,620
191 S7HA 682 696 696 747 747 | 10 S72A 611 611 611 611 611
) Machine Roomless Elevator £ Machine Roomless Elevator
& = 9| 45m/E 60m/ & 90m/ & 105m/ & 4 = 9| 45m/E 60m/ & 90m/ & 105m/ &
4 6%71F 63571E 6Z71E 6Z71F = 4 6%71F 6Z71F 6Z71E 6Z71F
71E0d 8 10 10 10 71#&04d 8 11 11 11
A e]ul o E 26,624 31,800 38,230 53,848 | | |de]uo|E 26,944 34,656 36,704 51,864
15 5244 776 906 1,048 1,072| | |1F F2A 1,071 1,190 1,190 1,428
190 S2A 752 752 752 752( | (1% F2A 611 611 611 611
g ol
O 3}=8& deHlolH
# 7H A ot
3 WTFH(AQ) K WIFF(AQ)
B 20m/ % | 30m/%& | 45m/%E | 60m/E E 20m/ % | 30m/E | 45m/E | 60m/ &
750kg A 23,400 29,020 30,960 33,596 1,000k | A 27,744 34,504 36,336 39,592
5% 71& | 3t 20,224 22,282 24,524 26,480 5% 71%& | 3t 24,720 26,840 29,181 31,132
15 324 860 864 864 860 15 S2A 1,800 1,800 1,800 1,800
500kg %A 1,510 1,510 1,510 1,510 500kg 574l 1,528 1,528 1,528 1,528
™ o
O H4olE]
& L M of
I 2LFF(AQ) I ALFH(AQ)
=l 80kg 100kg 150kg 200kg 300kg ] 80kg 100kg 150kg 200kg 300kg
&5y 30m/ & | 30m/ & | 30m/ & | 15m/F | 15m/ & &8 (20m/F | 20m/E | 20m/ & | 20m/ & | 20m/ &
= 4T7N | 4T71F | 4371 | 4T71F | 437 = 4T7NF | 437 | 437 | 4371 | 437E
AzjuolE 5,248 5,696 6,420 7,244 8,456 | AzwlolEl | 12,174| 12,210 12,288| 12,366 12,528
1% 24 354 354 493 453 494 | (1% 24| 1,040 1,040 1,040 1,040 1,040
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O WA : 2,000kww T4 F7}
! A oM et
NENH kWS 7IETH - TkwB 7bx
gy | 73 . J1EE S
xl.EAI A EE Al X|.EAI Al %DO:‘ ﬁz" = —
chyrerp et TR REA | 84 | SN | 254
20kw [10,866| 8,400 | 65 43
20kw 10,977 | 8,820 | 65 48
42kw (12,333| 9,352 | 47 122
42kw |12,403| 9,976 | 44 | 177
48kw | 12,664 10,200 105 79
48kw | 12,668 11,156 | 131 77
ekl
U7
1,000kw|151,700(142,912| 162 | 161 |17 oookwhisa 898123 522 176 | 180
1,250kw[198,410(184,880| 147 | 145 | 250kw| 199,000/ 188.440| 162 | 159
1.500kw]|235,394]221,328] 232 | 208 1,500kw|244,013(232,664| 212 | 168
2,000kw|350,170 316,939 191 | 152

O ofloiZd @ 7,560keals ©]7de] oloi7d : 120R/T, 150R/T 457}

& EL 7 M of
o = ot = R
& w7 E Tun | 2wy & F 7= ZyN | 2wy

60R/T 181,440kcal (1R/T &7tAl)[28,458(691) | 24,356(616) 60R/T 181,440kcal (1R/T &7tAl)|30,129(756) | 23,960(526)
80R/T 241,920kcal (1R/T &7tAl)[45,046(557)| 37,282(506) 80R/T 241,920kcal (1R/T &7tAl)|46,923(511) | 34,480(156)
100R/T 302,400kcal 56,503 47,886 100R/T 302,400kcal(1R/T £7}tA])|57,152(88) |37,600(134)
120R/T 37;;?9\?)“3' URIT 58 905(705)|40,275(321)

150R/T 45%33?3?)k03' URIT. a5 300(491)|49,893(347)
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